**BID TABULATION FOR:** 

**BID OPENING DATE: BID OPENING LOCATION:** TABULATION BY: **TABULATION DATE:** LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 51A SIENNA MUNICIPAL UTILITY DISTRICT NO. 7 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS **OCTOBER 10, 2024** LJA ENGINEERING, INC. C CORTEZ **OCTOBER 10, 2024** 1417-1551D (9.2)

**BIDDER'S NAME** 

1) BLAZEY CONSTRUCTION SERVICES LLC

2) FELLERS AND CLARK LP

3) CROSTEX CONSTRUCTION INC.

**TOTAL AMOUNT BID** 

BID INCLUDING ALTERNATE BID NO. 1 -WS&D FIELD CONDITIONS ITEMS

\$1,215,890.36

\$1,380,894.36

\$1,243,000,00

\$1,368,124.00

\$1,265,000.00

cinee.

\$1,377,184.00

**CALENDAR DAYS 40/50** 

I, RICHARD STANFIELD, P.E., hereby certify these bid tabulations to be true and correct.

FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 51A
SIENNA MUNICIPAL UTILITY DISTRICT NO. 7
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
OCTOBER 10, 2024
LJA ENGINEERING, INC.
C CORTEZ
OCTOBER 10, 2024

				1) BLAZEY CONSTRUCTION SERVICES LLC		2) FELLERS AND CLARK LP		3) CROSTEX CONSTRUCTION INC.	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WATER	DISTRIBUTION SYSTEM ITEMS – INTERNAL (SIENNA MUD NO. 7)								
	ETHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR PER GENE BAKER, 31 PARTNERS, L.P., 281.499.4539, COMPLETE IN PLACE	LS	1	\$11,395.00	\$11,395.00	\$11,395.00	\$11,395,00	\$12,500.00	\$12,500,00
2 6"	PVC WATER LINE, C-900, DR 18, CL 235, ALL DEPTHS, COMPLETE IN PLACE	LF	523	\$25.00	\$13,075.00	\$31.80	\$16,631.40	\$23.00	\$12,029.00
3 8"	PVC WATER LINE, C-900, DR 18, CL 235, ALL DEPTHS, COMPLETE IN PLACE	LF	2176	\$33.00	\$71,808.00	\$39.75	\$86,496.00	\$32,00	\$69,632.00
4 12	* PVC WATER LINE, C-900, DR 18, CL 235, ALL DEPTHS, COMPLETE IN PLACE	LF	255	\$65.00	\$16,575.00	\$78.85	\$20,106.75	\$62.00	\$15,810.00
5 6"	AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	2	\$1,350.00	\$2,700.00	\$1,556.15	\$3,112.30	\$1,215.00	\$2,430.00
6 8"	AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	16	\$2,000.00	\$32,000.00	\$2,243.05	\$35,888.80	\$1,800.00	\$28,800.00
	USHING VALVE UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6° GATE ILVE & BOX, 6° LEAD, FLUSHING VALVE, COMPLETE IN PLACE	EA	8	\$8,400.00	\$51,200.00	\$6,616.10	\$52,928.80	\$6,700,00	\$53,600.00
8 CA	AST IRON FITTINGS, COMPLETE IN PLACE	TON	1.5	\$5,540.00	\$8,310.00	\$121.60	\$182.40	\$5,600,00	\$8,400.00
9 TR	ENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	2954	\$0.11	\$324.94	\$0.10	\$295,40	\$0.05	\$147.70
10 RE	EMOVE AND DISPOSE OF EXISTING 8" PLUG AND CLAMP AND CONNECT COPOSED 8" WATERLINE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$580,00	\$580.00	\$182.35	\$182,35	\$1,500.00	\$1,500.00
DE	IORT SIDE SINGLE 1" CTS DR9 POLY TUBING WATER SERVICE LEADS, ALL PTHS, BACKFILL, METER BOX, CURB STOP, TAPS, AND ALL NECESSARY ITINGS, ETC., COMPLETE IN PLACE	EA	18	\$620,00	\$11,160.00	\$800.25	\$14,404.50	\$655.00	\$11,790.00
DE	ING SIDE SINGLE 1° CTS DR9 POLY TUBING WATER SERVICE LEADS, ALL IPTHS, BACKFILL, METER BOX, CURB STOP, TAPS , AND ALL NECESSARY ITINGS, ETC., COMPLETE IN PLACE	EA	37	\$1,350,00	\$49,950.00	\$1,424.80	\$52,717.60	\$1,240.00	\$45,880.00
13 8"	PLUG AND CLAMP, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$346.50	\$346.50	\$210,00	\$210,00
14 2"	BLOW OFF VALVE AND BOX ASSEMBLY, COMPLETE IN PLACE	EA	1	\$770.00	\$770.00	\$607.85	\$607.85	\$495.00	\$495.00
	MOVE AND DISPOSE OF EXISTING 12" PLUG AND CLAMP AND CONNECT IOPOSED 12" WATERLINE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$790.00	\$790.00	\$182.35	\$182.35	\$1,635.00	\$1,635.00
WATER	DISTRIBUTION SYSTEM ITEMS - INTERNAL (SIENNA MUD NO. 7) SUBTOTAL:				\$271,137.94		\$295,478.00		\$264,858.70
SANITAR	RY SEWER SYSTEM ITEMS – INTERNAL (SIENNA MUD NO. 7)								
	PVC SEWER PIPE, ASTM D 2241, SDR 26, CLASS 160, 0' - 12' DEPTH, MPLETE IN PLACE	LF	1403	\$47.00	\$65,941.00	\$43.90	\$61,591.70	\$41.00	\$57,523.00
2 12°	PVC SEWER PIPE, ASTM D 2241, SDR 26, CLASS 160, 20' AND DEEPER CUT, CLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1133	\$88.00	\$99,704.00	\$72.30	\$81,915.90	\$97.00	\$109,901.00
	ANDARD SANITARY SEWER MANHOLE, (0' — 8' DEPTH), INCLUDING INFLOW OTECTOR AND RAMNEK AT ALL JOINTS, COMPLETE IN PLACE	EA	9	\$3,850.00	\$34,650.00	\$5,232.75	\$47,094.75	\$4,600.00	\$41,400.00
	TRA VERTICAL DEPTH OF STANDARD SANITARY SEWER MANHOLES, (OVER 8' PTH), COMPLETE IN PLACE	VF	16.71	\$330.00	\$5,514.30	\$291.80	\$4,875.98	\$460,00	\$7,686.60
5 5'I	DIAMETER SANITARY SEWER MANHOLE, (0' – 8' DEPTH), INCLUDING INFLOW OTECTOR AND RAMNEK AT ALL JOINTS, COMPLETE IN PLACE	EA	9	\$6,200.00	\$55,800.00	\$6,859.40	\$61,734.60	\$6,700.00	\$60,300.00
	TRA VERTICAL DEPTH OF 5' DIAMETER STANDARD SANITARY SEWER INHOLES, (OVER 8' DEPTH), COMPLETE IN PLACE	VF	107.65	\$590.00	\$63,513.50	\$330.70	\$35,599.86	\$670.00	\$72,125.50

1417-1551D (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 51A SIENNA MUNICIPAL UTILITY DISTRICT NO. 7 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS OCTOBER 10, 2024 LJA ENGINEERING, INC. C CORTEZ

OCTOBER 10, 2024 1417-1551D (9.2)

				111 10010 (0.2)					
				) BLAZEY CONSTRUCT	TON SERVICES LLC	2) FELLERS AND	CLARK LP	3) CROSTEX CONS	STRUCTION INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, STACK, MARKER, DROP STRUCTURE, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	LF	742	\$65.00	\$48,230.00	\$60.40	\$44,816.80	\$47.00	\$34,874.00
5	SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, STACK, MARKER, DROP STRUCTURES, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	21	\$1,250.00	\$26,250.00	\$1,938.25	\$40,703.25	\$1,740.00	\$36,540.00
	T.V. INSPECTION OF SANITARY SEWER LINES (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	2536	\$2,00	\$5,072.00	\$2.00	\$5,072.00	\$2.00	\$5,072.00
10 1	TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	3278	\$2.00	\$6,556.00	\$2.00	\$6,556.00	\$2.00	\$6,556.00
11 F	FINAL ADJUSTMENTS TO SANITARY MANHOLES, COMPLETE IN PLACE	EA	18	\$110.00	\$1,980.00	\$25.00	\$450.00	\$150.00	\$2,700.00
	REMOVE AND DISPOSE OF EXISTING 12" PLUG AND CONNECT PROPOSED SANITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$500.00	\$500,00	\$425,50	\$425.50	\$1,500.00	\$1,500.00
13 1	2" SANITARY SEWER PLUG, COMPLETE IN PLACE	EA	1	\$400.00	\$400,00	\$267.45	\$267,45	\$200.00	\$200.00
	STANDARD SANITARY SEWER DROP STRUCTURE, AS PER CITY OF MISSOURI CITY STANDARDS, COMPLETE IN PLACE	EA	3	\$1,450.00	\$4,350.00	\$1,849.95	\$4,949.85	\$1,000.00	\$3,000.00
	EXTRA VERTICAL DEPTH OF STANDARD SANITARY SEWER DROP STRUCTURE AS PER CITY OF MISSOURI CITY STANDARD, COMPLETE IN PLACE	VF	22.32	\$60.00	\$1,339.20	\$36.45	\$813.56	\$100.00	\$2,232.00
16 F	FINAL ADJUSTMENTS TO EXISTING SANITARY MANHOLES, COMPLETE IN PLACE	EA	2	\$110.00	\$220.00	\$455.90	\$911.80	\$150.00	\$300.00
17 (	CONTRACTOR SHALL CORE INTO EXISTING SANITARY MANHOLE AND CONNECT " SANITARY SEWER LEAD, COMPLETE IN PLACE	EA	1	\$2,900.00	\$2,900.00	\$2,249.15	\$2,249.15	\$7,200.00	\$7,200.00
F	CONCRETE ANCHORS TO ASSIST WITH MAINTAINING FLOWLINE OF SANITARY PIPE (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	22	\$530.00	\$11,660.00	\$607.85	\$13,372.70	\$500.00	\$11,000.00
SANITA	ARY SEWER SYSTEM ITEMS - INTERNAL (SIENNA MUD NO. 7) SUBTOTAL:				\$434,580,00		\$413,400.85		\$460,110.10
DRAIN	AGE FACILITIES ITEMS – INTERNAL (SIENNA MUD NO. 7)								
	14" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	1136	\$86.00	\$97,696.00	\$99.10	\$112,577.60	\$82.00	\$93,152.00
	0° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	933	\$108.00	\$100,764.00	\$119,10	\$111,120.30	\$104.00	\$97,032.00
	6° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	В	\$148.00	\$1,184.00	\$159.20	\$1,273.60	\$143,00	\$1,144.00
	2" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	149	\$204.00	\$30,396.00	\$206.35	\$30,746.15	\$186.00	\$27,714.00
	16° C.G.M.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	75	\$153.00	\$11,475.00	\$154.55	\$11,591.25	\$154.00	\$11,550.00
	2° C.G.M.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	94	\$203.00	\$19,082.00	\$176.45	\$16,586.30	\$175.00	\$16,450.00
	8" C.G.M.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN LACE	LF	86	\$234,00	\$20,124.00	\$205.10	\$17,638.60	\$198,00	\$17,028.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 51A
SIENNA MUNICIPAL UTILITY DISTRICT NO. 7
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
OCTOBER 10, 2024
LJA ENGINEERING, INC.

LJA ENGINEERING, C CORTEZ OCTOBER 10, 2024 1417-1551D (9.2)

				1) BLAZEY CONSTRUCT	ION SERVICES LLC	2) FELLERS AND	CLARKIP	3) CROSTEX CONS	TRUCTION INC
ITE	M DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	STAGE I – STANDARD 5' PRECAST INLET ("H-2") ALL DEPTHS, (INCLUDES TEMPORARY SILT BARRIER FENCE FOR STAGE I INLETS), COMPLETE IN PLACE	EA	11	\$1,430.00	\$15,730,00	\$1,136.75	\$12,504.25	\$2,000.00	\$22,000.00
	STAGE II – STANDARD 5' PRECAST INLET ("H-2"), (INCLUDES TEMPORARY SAND- FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE	EA	11	\$1,900.00	\$20,900.00	\$2,528.75	\$27,816.25	\$975.00	\$10,725,00
1	STAGE I - STANDARD 10' PRECAST INLET, ALL DEPTHS (INCLUDES TEMPORARY SILT BARRIER FENCE FOR STAGE 1 INLETS), COMPLETE IN PLACE	EA	9	\$1,700.00	\$15,300.00	\$1,282.60	\$11,543.40	\$3,000.00	\$27,000.00
1	STAGE II – STANDARD 10' PRECAST INLET, ALL DEPTHS (INCLUDES TEMPORARY SAND FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL) COMPLETE IN PLACE	EA	9	\$2,500.00	\$22,500.00	\$3,069.75	\$27,627.75	\$1,080.00	\$9,720.00
1	TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	19	\$3,200.00	\$60,800.00	\$2,935.30	\$55,770.70	\$3,600.00	\$68,400.00
1	TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$5,600.00	\$11,200.00	\$3,836.05	\$7,672.10	\$6,000.00	\$12,000.00
1	CITY OF MISSOURI CITY (COMC) CONSTRUCTION PERMIT FOR CONSTRUCTION OF WS&D (PERCENTAGE OF WS&D CONSTRUCTION COST AS REQUIRED BY COMC), COMPLETE IN PLACE	LS	1	\$14,500.00	\$14,500,00	\$21,275,60	\$21,275.60	\$16,465,15	\$16,465.15
1	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	2481	\$0.22	\$545.82	\$0.10	\$248.10	\$0.05	\$124.05
1	FINAL ADJUSTMENT OF MANHOLE RIM ELEVATIONS, COMPLETE IN PLACE	EA	21	\$110.00	\$2,310.00	\$25.00	\$525.00	\$100,00	\$2,100.00
1	WATER, SANITARY SEWER, AND STORM SEWER UTILITY SPOIL TO BE USED ON- SITE, INCLUDES EXCAVATION, HAULING, PLACED AND COMPACTED TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	CY	4898	\$2.20	\$10,775.60	\$3.05	\$14,938.90	\$1.50	\$7,347.00
1	INSTALLATION AND REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, INCLUDES INSTALLATION AND REMOVAL (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA		\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
1	OVERFLOW DRAINAGE SWALE, 2' BOTTOM WIDTH, 3:1 SIDE SLOPES, CHANNEL LOCK OR APPROVED EQUAL, INCLUDES EXCAVATION, HAULING, GRADING AND HYDROMULCH SEEDING AS PER SWMHCA SPECIFICATION NO. 4241 (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	164	\$14.50	\$2,378.00	\$24.30	\$3,985.20	\$35,00	\$5,740.00
2	CLEANOUT AND TOTAL DE-SILTING OF STORM SEWER SYSTEM, BY ANY MEANS NECESSARY, INCLUDING COFFER DAMS, PUMPING, AND ALL OTHER APPURTENANCES (ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	2481	\$2.00	\$4,962.00	\$2,00	\$4,962.00	\$2.00	\$4,962.00
2	TEMPORARY BYPASS PUMPING FOR DURATION OF PROJECT, BY ANY MEANS NECESSARY TO COMPLETE FILL AREA (AS SHOWN ON SHEET 13) AND AS SPECIFIED BY GEOTECH RECOMMENDATIONS, COMPLETE IN PLACE	LS	1	\$1,700.00	\$1,700.00	\$1,750.00	\$1,750.00	\$5,000.00	\$5,000.00
2	42" CGMP STORM SEWER OUTFALL STRUCTURE, 3:1 SET, AND ALL OTHER APPURTENANCES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$3,900.00	\$3,900.00	\$1,000.00	\$1,000.00	\$21,500.00	\$21,500.00
2:	48" CGMP STORM SEWER OUTFALL STRUCTURE, 3:1 SET, TIMBERBENT, AND ALL OTHER APPURTENANCES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$3,900.00	\$3,900.00	\$2,259.05	\$2,259.05	\$25,500.00	\$25,500.00
24	36" CGMP STORM SEWER OUTFALL STRUCTURE, 3:1 SET, AND ALL OTHER APPURTENANCES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,800,00	\$2,800.00	\$1,000.00	\$1,000.00	\$20,000.00	\$20,000.00

## **BID TABULATION FOR:**

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 51A
SIENNA MUNICIPAL UTILITY DISTRICT NO. 7
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
OCTOBER 10, 2024
LJA ENGINEERING, INC.
C CORTEZ
OCTOBER 10, 2024

				111 10010 (0.2)					
				1) BLAZEY CONSTRUC	TION SERVICES LLC	2) FELLERS AN	D CLARK LP	3) CROSTEX CONS	STRUCTION INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
25	8" BRICK PLUG FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$950.00	\$950.00	\$650.00	\$650.00	\$250.00	\$250,00
26	CONSTRUCTION AND REMOVAL OF TEMPORARY COFFER DAM FOR THE CONSTRUCTION OF STORM SEWER OUTFALL, INCLUDES DEWATERING AND ALL APPURTENANCES, ALL SIZES, ALL DEPTHS, (AS DIRECTED BY TEH ENGINEER), COMPLETE IN PLACE	EA	3	\$6,100.00	\$18,300.00	\$4,255.10	\$12,765.30	\$1.00	\$3.00
	4" REINFORCED CONCRETE SLOPE PAVING, TO INCLUDE 5' TOE WALL ALONG FLOWLINE OF OYSTER CREEK AND 2' TOE AROUND ALL OTHER SIDES, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	SY	125	\$116.00	\$14,500.00	\$182.35	\$22,793.75	\$125,00	\$15,625.00
DRAI	NAGE FACILITIES ITEMS - INTERNAL (SIENNA MUD NO. 7) SUBTOTAL:				\$510,172.42		\$534,121.15		\$540,031.20
MISC	ELLANEOUS ITEMS								
	STANDARD DEDUCT FOR VARIANCE REQUESTS SUBMITTED BY THE ENGINEER ON BEHALF OF THE CONTRACTOR, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	0	-\$1,000.00	\$0.00	-\$1,000,00	\$0.00	-\$1,000.00	\$0.00
2	STANDARD DEDUCT FOR STREET CLEANING (AS DIRECTED BY THE OWNER), COMPLETE IN PLACE	HR	0	-\$125.00	\$0,00	-\$125,00	\$0,00	-\$125.00	\$0.00
	STANDARD DEDUCT FOR DAMAGE TO WETLANDS FENCING BY THE CONTRACTOR, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	0	-\$10,00	\$0.00	-\$10,00	\$0,00	-\$10.00	\$0.00
4	STANDARD DEDUCT FOR DAMAGE TO TREE MARKED FOR PRESERVATION, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	0	-\$1,000.00	\$0,00	-\$1,000.00	\$0.00	-\$1,000.00	\$0.00
MISCE	ELLANEOUS ITEMS SUBTOTAL:				\$0.00		\$0.00		\$0.00
ALTE	RNATE BID NO. 1 – WS&D FIELD CONDITIONS ITEMS								
	BORE AND JACK OR AUGER (WET BORE) OF WATER LINE, ALL DEPTHS, ALL SIZES, EXCLUDES LINE PIPE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$35.00	\$3,500.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
	BORE PITS FOR WATER LINE BORE, INCLUDES BORE PIT, DEWATERING OF BORE PIT, TRENCH SAFETY FOR BORE PIT, & FILLED WITH 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	EA	2	\$500.00	\$1,000.00	\$100.00	\$200.00	\$1,000.00	\$2,000.00
	DEWATERING OF RIGHT OF WAY (ALL DEPTHS, THIS IS AN ESTIMATED QUANTITY TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	2948	\$35.00	\$103,180.00	\$25.00	\$73,700.00	\$20.00	\$58,960.00
	BORE AND JACK OR AUGER (WET BORE) OF SANITARY SEWER, ALL DEPTHS, ALL SIZES, EXCLUDES LINE PIPE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$35.00	\$3,500.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
	BORE PITS FOR SANITARY SEWER BORE, INCLUDES BORE PIT, DEWATERING OF BORE PIT, TRENCH SAFETY FOR BORE PIT, AND FILLED WITH 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	EA	2	\$900.00	\$1,800.00	\$100.00	\$200,00	\$100.00	\$200.00
	ADDITIONAL COST FOR MISSOURI CITY MODIFIED "A-A" SANITARY SEWER BEDDING, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	2536	\$12.00	\$30,432.00	\$12.00	\$30,432.00	\$12.00	\$30,432.00

1417-1551D (9.2)

## **BID TABULATION FOR:**

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 51A SIENNA MUNICIPAL UTILITY DISTRICT NO. 7 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS OCTOBER 10, 2024 LJA ENGINEERING, INC. C CORTEZ OCTOBER 10, 2024 1417-15510 (9.2)

			1) BLAZEY CONSTRUC	TION SERVICES LLC	2) FELLERS AN	D CLARK LP	3) CROSTEX CONS	STRUCTION INC.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
7 CEMENT STABILIZED SAND (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	500	\$30.00	\$15,000.00	\$20.00	\$10,000.00	\$20.00	\$10,000.00
8 ADDITIONAL COST FOR MISSOURI CITY MODIFIED "A-A" STORM SEWER BEDDING, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	412	\$16.00	\$8,592.00	\$16.00	\$6,592.00	\$16.00	\$8,592.00
ALTERNATE BID NO. 1 - WS&D FIELD CONDITIONS ITEMS SUBTOTAL:				\$165,004.00		\$125,124.00		\$112,184.00
BIDDING SUMMARY								
SUBTOTAL WATER DISTRIBUTION SYSTEM ITEMS - INTERNAL (SIENNA MUD NO. 7)				\$271,137.94		\$295,478.00		\$264,858.70
SUBTOTAL SANITARY SEWER SYSTEM ITEMS - INTERNAL (SIENNA MUD NO. 7)				\$434,580.00		\$413,400.85		\$460,110.10
SUBTOTAL DRAINAGE FACILITIES ITEMS - INTERNAL (SIENNA MUD NO. 7)				\$510,172.42		\$534,121.15		\$540,031.20
SUBTOTAL MISCELLANEOUS ITEMS				\$0.00	4 4	\$0,00		\$0.00
TOTAL AMOUNT BASE BID				\$1,215,890.36		\$1,243,000.00		\$1,265,000.00
ALTERNATE BID NO. 1 - WS&D FIELD CONDITIONS ITEMS								
TOTAL AMOUNT BASE BID				\$1,215,890.36		\$1,243,000.00		\$1,265,000.00
SUBTOTAL ALTERNATE BID NO. 1 - WS&D FIELD CONDITIONS ITEMS				\$165,004.00		\$125,124.00		\$112,184.00
TOTAL AMOUNT INCLUDING ALTERNATE BID NO. 1 - WS&D FIELD CONDITIONS ITEMS				\$1,380,894.36		\$1,368,124.00		\$1,377,184.00